* 07 FINTHTI-A-To2ERE *

RELELT
1 2 3 4 5 | e tyh Gr=lh & 1 2 g 4 5 | e tyh =1 I8
A JOvy AT B5#E | HO t | Al 23| g 25 CESEIEIESE Cc Jovy Fr fEE | ME A | LR FED [ A B I ES
c|1
NI X — — — — AT fEE X — — — —
cCl2
B X - - — meas | — x — - —
cC|3
alll 23k - — X — — Ll 2275 - — X — —
Cc |4
gy 25 - - - X - bE TEER — - — x —
C|5
— — — — X — — — — X
1 2 3 4 5 Bl e tyh D= & 1 2 3 4 5 | e tyb T-LI I8
B JOvy MEE | EX BE | B oh| [E & AESEIEIESE= D JOvy HAER R | AT 38340 | LU (OME | Is Re % BIK|EB XE
D|1
L) X - - - - HAE JoRT X — — — —
D|2
EA BE — X — — — ARAS BEDN — x — — —
D |3
BT oEh - - X - - (I m ey — - X - -
D |4
faIEp & — — — X — FRIE 5243 — — — X —
D|5
— — — — x — — — — X




* 07 FINTHTI-A-To2ERE *

hEELT
‘ 1 i 2__ 3 _ 4 5 mlal tyh _ Gr=lh B ‘ 1 2 g 4 5 el tyh _ =1 &
Joyvs &I W5T| 3% ORI | KIR i | FIE AESEIEIESES G Joys BIR[E|F K=
G |1
18I V5T X — — — — X — — — —
G |2
Ew | — x — — — — x — — —
G |3
REHO | — — x — — — — x — —
G4
mRE|  — — — x — — — — x —
G |5
— — — — x — — — — x
1 2 3 4 5 tyh D= 1 2 3 4 5 tyh Fr=1k
= [ - [
Joyy HH &RF [ 182 5% 1K 0X |16 IR B & B EIE= . H JOvJ B& BIRIE|F XK= .
H|1
B BT X — — — — x — — — —
H |2
B2 Es|  — x — — — X — — —
H |3
PRIV — — x — — _ — 52 _ _
H[4
e AR — - — x — - - - x -
H |5
— — — — x — — — — x




* SI7-FAINTHhT—A-T>LEARE %
REL T
1 2QIh=FADh 3 4fIb=FA>b




